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Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

i

1. Answer any ten from the following questions :

1x10=10
Sod PP R @I webR ey fin
(a) Define demography.
T ogq 5w faan |
(b) Give one example of renewable
resource.
FRAFATTN % GO Twrza fan |
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* @ Mention onc problem associated with
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Dedl nl " ) What is microfinance?
(:" o - YTwy R
@ What is meant by commen property
< TEER T SR T & e W
TS Ty e e R W T

. 2x5=10

TIF TR T TE T

Write one reason of urban pepulat. ‘f\“"'wﬁm“"ﬁ';

sowth fa) Define sustainable development.

Y T TR & T e ; T SR W R

What 5 bfe expectancy? ¥ How dees poy

- - ¢ to the development process of
b | o developing countries?
rude

Define ourthrate. SR (BT SOTO I e s

ST TR e Ry B e o\
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Goe the defimmon of general ferni-

rage

e THaEd T VW =¢

Whnar are the funcuons of mdiaicd.
DErETour -
T T TR B B

Men o

Wo areas where develop-

“Sunines can heip developing countr:-
 pretec environmental degradatior
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3. Answer anv four from the following
guestions

T e e wiba e e

fa)

fbj

fel

fd

(el

22A/853

5x4-20

Briefly explain the relationship between
nutnuon and labour productivity

=R SemEes W ot ww sl vite

Point out the main determinants of
good governance framework.

T TEER Chll E’"".‘W SEY B |

Explain the purpose of the study
of individual behaviour in social

environment.

SRR T ey WnAe wWaws s4q o

Write a note on financial instability

in a globalized world
o

What are the consequences  of
migration® Explain.
e vfaefs f R ey v
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(6)

(7)
jain the interrelationship betwe
@ onomic activity and climate Chang s (b) Discuss how globalization affects
ec - ; ;
o1F Y FAfiqdaq T the commodity trade of developing
weftTe i A ? countries.
< AT
TR

e Smae orR T afvere R ge=

What are the causes IR0, S 347 |

inequality in a family?

e foede forRel (3F9R PRI & & o

@ °f gende |8
(c) Explain the functioning of credit market
in a rural economy.
. & I SRS 99 IWR IS A T4 |
(h) Explain the inter-linkages betwee,, |
rural factor markets in develolamg

(d) What is migration? What are the factors
countries.

that lead to migration?

=w ot B qm 2 R R v v smesw
S =W 2

TN (P AT BT ISRCARE T 2
STEERCAG IR 41 |

(e) Critically discuss the demographic
4. Answer any four from the

following f transition theory of population.
— 10x4= 38 PRI SPRYITS TG OGS ST
T P R e vRER e i I S 341 |
fa) Examine the £ () Discuss various measures of land
agriculture to :::Jor Conm?utxons o reforms. How does it affect the
process of economic | Suia > G
development. ‘ | productivity of agrarian society?

R e Rfdn aeerz s w1 @
TR FRERT e Tecrrieren soms
(RCATAN 2SR T 2
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(8)

o) Discuss the factors whic, "
individual behaviour in 4y, orp. . e,

- Il‘l“\‘
SO I DICIE (U | I B %Tﬁ‘:s ¥ »
A0

AT ¥ |

(h) Discuss the terms govern
in  organization  and Compy ay,
governance. un“,‘
WA P SE TR vy BE B o
A ¥4 |

()  Explain the connection between inco
mortality, fertility and humap, Capit:
accumulation. d
TH ST I 377 |

() Explain the decline in the efficiency
an organization in terms of Hirschmgp;
exit, voice and loyalty theory.
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